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<entry>
<act classCode="ACT" moodCode="RQO" negationInd='true'>

<templateld root="2.16.840.1.113883.10.20.24.3.130"/>

<id root="1.3.6.1.4.1.115" extension="5afef83elca092589bacdser” />

<code code="SPLY" codeSystem="2.16.840.1.113883.5.6" displayName="Supply" codeSystemlame="ActClass"/>

<entryRelationship typeCode="SUBJ">
<supply classCode="SPLY" moodCode="RQO">

<1-- Plan of Care Activity Supply —->
<templateld root="2.16.840.1.113883.10.20.22.4.43" extension="2014-06-09"/>
<1-- Device, Order —->
<templateld root="2.16.840.1.113883.10.20.24.3.9" extension="2016-02-01"/>
<id root="1.3.6.1.4.1.115" extension="5afef83elca092589bacdser” />
<text>Device, Order: Intermittent pneumatic compression devices (IBC)</text>
<statusCode code="active"/>

<effectiveTime xs:

ype="IVL_TS">
<low value='201805051200+0000" />
<high value='201805051200+0000 />
</etfectiveTime>

<autnor>
<templateld root="2.16.840.1.113883.10.20.22.4.119"/>
ZEiiE nullFlavor="UNK' /3
<assigneahuthor>
<id nullFlavor:
</assignedhuthor>
</author>

NA" root="d430b326-4000-4acT-876a-5c47A873b1EC" />

<playingbevice classCode=’
<code nullFlavor="NA"
sdtcivalueSet="2.16.840.1.113883.3.117.1.7.1.214">
<originalText>Device, Order: Intermittent pneumatic compression devices (IBC)</originalText>
</code>

</playingDevice>
</participantRole>
</participant>
</supply>
</entryRelationship>




